Tuesday, February 13, 2024 at 5:30 PM
Police Jury Conference Room | 100 Wes

Police Jury Conference Room | 100 West Texas Avenue, Floor Three, Ruston, LA 71270

### **AGENDA**

In compliance with the Americans With Disabilities Act, individuals needing special accommodations during this meeting should notify the Lincoln Parish Police Jury at 318-513-6200 at least three working days before the meeting.

### **COMMITTEE MEMBERS**

Greg "Big Coach" Williams, Chair; Dan Lord, TJ Cranford, Diane Richards, Milton Melton

Call to Order

**Invocation** 

**Approval of Agenda** 

**Public Comments on Agenda Items** 

#### **New Business**

- 1. Action On Bids- Wastewater Treatment Collection System Improvements, Blueberry Hills/Barker Consolidation
- 2. LCDBG-HVAC Renovation Project Change Order No. 1
- 3. Authorize Advertisement For Bids:
  - A. Asphalt Materials
  - B. One (1) Lot of Miscellaneous Scrap Metal (Surplus Property)
- 4. Authorize Submittal of Applications:
  - A. Louisiana Government Assistance Program (LGAP)- Electrical Upgrades at Lincoln Parish Park
  - B. Community Water Enrichment Fund (CWEF)- Elevated Tank Rehabilitation, Mt. Olive Waterworks District
- <u>5.</u> Final Plat Approval For Redhaven Ridge Subdivision, Unit 1

**Other Business** 

**Public Comments** 

**Adjournment** 

## Wastewater Treatment Collection System Improvements, Bid Opening - January 18, 2024, 10:00 AM Blueberry Hills Barker Consolidation (SCC Project No. 3336) Bid Tabulation

Item

ŝ

Description

Quantity

Unit

David Lawler Construction, Inc. Unit Price

Extension

# BASE BID ITEMS:

6" SDR26, PVC Force Main (Open Cut)

6" SDR26, PVC Force main (Jack & Bore)

6" DR11, HDPE Force Main (Directional Drill)

6" HDPE x PVC Connection

6" Gate Valve w/pad, box & sign S

2" Air Release Assembly 9

Testing and final restoration of pressure mains

100,000-gpd Packaged WWTP 00

Blueberry Hills Lift Station - Site Piping 6

Blueberry Hills Lift Station - Site Work 2

Bluebeтy Hills Lift Station - Electrical & Controls

Blueberry Hills Lift Station 12

5' dia. Pre-cast Concrete Wet Well 13

Barker WWTP - Site Piping 14

Barker WWTP - Site Work 15 Barker WWTP - Electrical & Controls 16

Abandonment of Blueberry Hills WWTP 17

8,400 LS	LS	\$29.00	\$243,600.00
200	200 LF	\$60.00	\$12,000.00
1,710 LF	LF	\$85.00	\$145,350.00
32	EA	\$1,500.00	\$48,000.00
	EA	\$2,400.00	\$2,400.00
m	3 EA	\$7,500.00	\$22,500.00
10,310 LF	LF	\$0.20	\$2,062.00
F	LS	\$900,000.00	\$900,000.00
1	rs	\$19,000.00	\$19,000.00
1	LS	\$15,000.00	\$15,000.00
1	LS	\$25,000.00	\$25,000.00
	LS	\$118,000.00	\$118,000.00
00	VF	\$3,000.00	\$24,000.00
1	LS	\$85,000.00	\$85,000.00
1	LS	\$20,000.00	\$20,000.00
1	LS	\$60,000.00	\$60,000.00
1	TS	\$15,000.00	\$15,000.00

## Wastewater Treatment Collection System Improvements, Bid Opening - January 18, 2024, 10:00 AM Blueberry Hills Barker Consolidation (SCC Project No. 3336) Bid Tabulation

Abandonment of Barker WWTP 18

19 Mobilization (Project)

\$15,000.00	\$100,000.00
\$15,000.00	\$100,000.00
1 LS	1 LS
	:

TOTAL BID ITEMS:

\$1,871,912.00

# ALTERNATE BID ITEMS:

20 Barker Lift Station - Site Piping

21 Barker Lift Station - Site Work

Barker Lift Station - Electrical & Controls 22

Barker Lift Station 23

TOTAL ALTERNATE BID ITEMS:

\$75,000.00	\$75,000.00	ı rs	
\$14,000.00	\$14,000.00	l LS	
\$15,000.00	\$15,000.00	ı Ls	
\$17,000.00	\$17,000.00	1 LS	

\*Corrected by Engineer

\$121,000.00



### Section 00 63 63 = Change Order

CHANGE ORDER NO.: \_\_\_1\_\_

Owner:	Lincoln Parish Police Jury		Owner's Project f	No.:	N/A
Engineer:	Shuler Consulting Company		Engineer's Projec	t No.:	3218
Contractor:	Contractor: Byrnes Mechanical Contractors,		Contractor's Proj	ect No.:	N/A
	Lincoln Parish LCDBG-HVAC Renovation Project, Lincoln Parish Detention Center			on Center &	
Project: Main Public Library					
Contract Name:					
Date Issued:	Effe	ctive Date	of Change Order:		
The Contract is mo	The Contract is modified as follows upon execution of this Change Order:				
Description: Contra	ctor narrative				
Attachments: Chan	ge Order No.1 Tabulation				
Char	nge in Contract Price	-3	Change in Con	tract Times	
Original Contract Pr	ice:	_	Contract Times:		
			antial Completion:	360	
\$ 2,320,000.00		Ready	for final payment:	390	
	e) from previously approved	1 -	se] [Decrease] from p	*	• •
Change Orders No.	<u>N/A</u> to No. <u>N/A</u> :	_		o No. <u>N/A</u>	:
			antial Completion:	0	
\$ 0		<del>-</del>	for final payment:	0	
Contract Price prior to this Change Order:		1	t Times prior to this	-	er:
\$ 2,320,000,00		1	antial Completion:	360	
\$ 2,320,000.00		Ready for final payment: 390			
[Increase] (Decrease) this Change Order:		[Increase] [Decrease] this Change Order:			
			antial Completion:	0	
\$ 311,250.00		Ready	for final payment:	0	
Contract Price incorporating this Change Order:			t Times with all appr	oved Chang	e Orders:
		1	antial Completion:	360	
\$ 2,008,750.00		Ready	for final payment:	390	
Recomme By:	ended by Engineer (if required)		Accepted by	· Contracto	or
Title: Henry Shu	ler P F	Robe	ort Ryrnes Presiden	ıt.	

Ву:		
Title:	Henry Shuler, P. E.	Robert Byrnes, President
Date:		
	Authorized by Owner	Approved by Funding Agency (if applicable)
Ву:	And the second s	
Title:	Glen Scriber, President	
Date:		

